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You have been called de the written test based on the online data furnished by you in the web application, If
you have wrongly entered in the web any information or you do not | possess the required
qualification as per our advertisement, your candidature will be rejected.

2. GRT-, 80 TRAT A Jeel TReA-GEcTehT o &0 A & 3R odieT T 3@fer 02 6 § |

The Question paper is in the form of Question Booklet with 80 questions and the duration of the test
is 02 hours.

3. R fasheul afa aedfaive R & wee gl oot & % o srfeew &9 & |8 g |

The questions will be objective type with four options out of which only one will be unambiguously correct.

4, anﬂa%ﬁfummaﬁﬁsﬂtmmwaﬁvwﬁmml

Each question carries 04 marks and one mark will be deducted for each wrong answer.

5. AT e &1 & folT g@lr ufa i 37erT SNTHASR Seek-gRbdent & Srea|

A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options.
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= 1L

12.

13.

14.

15.

HTIRT, SecR-GEcTeT 3 U 3T 318 & HTH, Ael/ehrely TATE & aier grEe 9t & 3NTHAIR Sear-
Qe H Gaftra 3Tact ST 3ifehd Y TEY Sea T =T LT B

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen.

Teh U9+T & Tl 31e¥eh 3 ITeTd HIAT SITUATT |

Multiple answers for a question will be regarded as wrong answer.
S ¢ le] H Hfd UA-9FEdw Avl H15 . TR e IR W Hifdse wum w
ferger =nfew|

Question booklet code printed on the top right corner should be written in the OMR answer sheet in the
space provided.

RA-GIETRT & JHTIHT ATH TUT HeThHAS Tl fored |

Enter your Name and Roll Number correctly in the question booklet.

HITHANR Sec-grecer 7 geft wfafSear sfelyare Famd & aier T ¥e A & B e =i
All entries in the OMR answer sheet should be with blue/black ball point pen only.

T gt 3 foreren hr 3ufeufa &) 3men! gidr-Rere UX gEameR w3 aiiRu|

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

ferfera st Teretarel &lel & HeX FTIE, FrAHOC, AGTSH Bied TUT el FAFCI N ST,
qIS-TEh, Ale e aTet i sregafar et & Srwsh|

Computers, calculators, ﬁwbile phones and other electronic gadgets, text books, notes etc., will not
be allowed inside the written test hall.

BT 907 Bl R, HUANR IccR-GREdent B T F e Rt & B 37 o7er sivasm
SceaR-qRedeh foliateh sl €Y or gE wiey 31Tass I |

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over
the original OMR answer sheet to the invigilator and retain the duplicate copy with you.

SRA-GRECTRT 3187 370t I T Heh
The question booklet can be retained by the candidates.
TTETT < A T & GRTeT 31Tt Y e giet ovse Y regAfa AT B

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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JFhei b HEH-(TERH)-9¢ 9. 1368/

TECHNICAL ASSISTANT- (CHEMICAL) — POST NO. 1368

faTs dee 3raeoter T aTiRamive ereg

Terminology for rapid paint chalking

(@) uFwst/Flaking (b)  TA=rewa/Peeling

() vfeereRerAlligatoring (d)  3WcA/Erosion

FUAT FeATTeRR & AEarst ganr AT Fhm i ————— wea §)

Artificial cement made by the calcination of argillaceous limestone is called

(a) drcels/Portland (b)  Fewas f@fFEe/Calcium silicate
¢) FreEaGypsum - (d)  Uefafauer Rfadse/Aluminium silicate
el e —————%|

Hypo solution is

(a) WIEgH Farss/Sodium chloride (b)y  wfzEH sREEhRe/Sodium bisulphite

() wifsaw Ramethe/Sodium thiosulphate  (d)  #Emm/Soda ash

CART FiReee WISt #T fAAor fovam Jirem g1/Caustic soda is manufactured by

(a) gssTufsarHayber process (b)  TSrecir afsha/Membrane process
(c) forecelator ufshar/Crystallization process  (d) 33 ufsar/Arhenius process

ST ST AR TR 37T 35 o & ERTer e s e ——— &)

Intermediate compound produced during the manufacturing of Sulphuric acid by DCDA process
(@ fergaE/Oleum (b)  3eH-THHIRF 3Fel/Alpha-Sulphuric acid
(c) Fewsel/Sulphonal \ (d)  wewHe/Sulphomate

TS ATSe Bt ————— 1

Tri Nitro Phenol is

(a) WEATA/PETN (b)y  IMErwEd 3F/RDX acid

(c) Tafere 3%a/Picric acid (dy  Euad &/ TNT phenyl

TLATYT &7 T gl

Principle of atom bomb

(a) =R germ=/Nuclear fusion (b)  =nfRdrT fAwss/Nuclear fission

(c) g sges/Nuclear decomposition  (d)  3wjaa @Al the above
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10.

11.

12.

13.

14.

15.

LG I ) O —_ |

White pigment is

(a) <ad F=we/White Zinc (b)  23a 3=/ White Arsenic

(¢) «dadr/White Lead (d)y  <ga @ig/White Silver

AT, TS T ael R T Ueed aSt, STeT Stel WicRIH T 1S Hged +el, & [olT eI & & H ————— FT
ST 3T faRar ST B

is widely employed as an adhesive for veneer, plywood,' and corrugated and laminated
boards where water resistance is not important

(a) wRESTa/Fevicol () SHww/ECH
(c) WasEe/Araldite (d)  wrha EerR/Native starch

TR 3T AT SR & ST BlaTe SR TRAT T 3cuTe

Product of reaction between fatty acids with alkalis

(a) @rge/Soap (b)  Ferargs/Glyceride
(c) #AF/Wax (d)  9=c/Paint

ares AT &1 3areo/Example for thermosetting resins

(a) @er gedw=i/Cellulose derivatives (b) agﬁaﬁ'i"—g’m/Polymer resins
(c) TrarTas Ie=/Phenolic resins (dy  aReifaatess/Modified alkyds

———————— & TAHIOT & ShIURE Tsha T 3TN fehaT STetT g1
Kraft process is used for the manufacturing of

(a) wmreT/Paper - \ (b)  Yee/Paint
(c) TaEwres/Explosives (d)  ®IfsIH vemgs/Sodium azide

aitel & dMeised (O ) F1 AR/ Value of Sphericity (®) for Sphere

@ 0 ) 1 (¢) 3=aarInfinity (d) -1

GOHHATE HTEY ST o IRehelel & 4

Formula for calculating mass mean diameter

@ 2 (x/Dy) () Z(x; Dy © X (xiDp) @ 1/Z(xi/ Dpi)

FATIsT &1 IR TTh Al (FA1S = eI1H)
Shape factor value for cylinder (height = diameter)

@ 1 ®) 0.785 © 0524 @ 0
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16.

17.

18.

19.

20.

21.

22.

Tl Ao ThIeT AT AT e STTell TR TUT 38 3197el S Thie & Jre T 31T
Ratio of actual mesh dimension of any standard screen to that of the next-smaller screen

(@) 1414 (b)y 1.732 (c) 1.189 (dy 1.234

FT 44 um 3778 s7rdt & AT ——— &7 fFeayor R srar
analysis can be used for diameters greater than about 44 um
(a) Felica-Hhe/Wet-screen
(b)  ysh-The/Dry-screen
(c) U ATed Bhe/Logarithmic mean screen
(d) eERe-whisi/Tyler-screen

frafafad ot # & e 3T dee & faw Rear srard?
Which of the following law is used for crushing?

(@) Torr@s &1 fAga/Kirchoff’s law (b)  steea &1 fgs/Dalton’s law

(c) U3ee & aa/Raoult’s law (d) Sz fAaa/Bond’s law

TfereRT UYOT JiTeleT & Tore fer 1 af shifcien a1fal &Y ottt §f ————— gieir anfgu)

For the ball milling operation, speed of the mill should be ————— than critical speed.
(a) swEvEqual (b)  ITaavHigher

(c) TFAavLesser (d) A Zero

JTeEH g=syi & 3arexor/Example for ultrafine grinders

(@) oRel Fef fAeFluid energy mill (b)  Helest e/ Tumbling mill

(c) et Ae/Roller mill (d)  9feer Aa/Pebble mill

iAo whiet ————— & fafda 7€ @i 1/Industrial screens are not made from

(@) colffes Fary/Plastic cloth (b)  @rgEs/Metal bar

(c) wESilk : (d)  @rss/Wood

HHI ¥ T e 8 S e W Y S ST ey ol 85 et T e e ————— 1

Mass of the particles fed per ynit time per unit area of the screen is termed as

(a) ewrar/Efficiency

(b) e&mHarCapacity

(c) uerl yarg/Material flow

(d) 3wdFa A4 wh s =g /None of the above
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23.

24.

25.

26.

27

28.

29,

yTafad feerot & & $le-a7 Ho7 3R fFawer 9 & Faftd §?
Which one of the following analysis belongs to the particle size distribution curve?

(a) a3y faeeworDifferential analysis (b) TearcHAs faeewor/Numerical analysis
(c) sieh @ fAzeryor/Bernoulli’s analysis (d)  39Fd # o U o FE/None of the above
HTAGES FHOT T AT FILROTFI ————— H AT AT 5

Ultrafine particles are generally measured in,

(@) sa/nches (b)  AeedeyMillimetre

(c) VHA/Centimeter (d) &9l gfeie geaaAE/Area per unit mass

TaramTeieT Ueh Teref AT geTel & HeLE 1 Had B g

A—— refers to a substance or a group of substances under consideration
(a) wfsram/Process (b) yafaRur/Environment

(c) worTel/System (d)  wiE/Species

Framreiet geareTe W 3 T Hf ————— & 9 A Fefichd AT e & |
Properties which are dependent on mass under consideration are classified as
(a) farariExtensive (b) Fada/Intensive

() 3wpEEa/Colligative (d)  3=orEEE/Non-colligative
A fRufaat (0°C, 760 mm Hg) o 9eref & 1 I-Afe ————— &7 STIg0r AT &
1 gram-mole of material at standard conditions (0°C, 760 mm Hg) occupies

@ 22.4ml ) (b) 224m’

(© 22.4m’/wmgram - (d)  22.4 dhevlitre

3T & 5 aifea AT AmEt —————— $r AT § e e

The quantities of the desired compounds which are formed in the reaction will be determined by the
quantity of \ '

(a) 31T f@fHTw/Excess reactant

(b) & FARRTE/Limiting reactant

(c) Sari sifRfa®/Neutral reactant

(d) 3T iR/ Molar reactant

T i T &5 RO T RS 2 g 7 PR @YaTel S et 7 TR 21— 31

Form of energy which is transferred from one body to another as a result of a difference in
temperature is termed as ;

(@) ara/Heat (b)  ufFaPower
(c) argHTe wavrar/ Temperature gradient (d)  wEwEdsy/LMTD
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30,

31s

32.

33

34.

35.

36.

3T & U [T # 3ufeug e e s et —————— ¥ 5 o5 39 [T & 9o 3ade iR araEs 7 afE Faar ag
Hea <19 ST T A 36 GaRT AT T STreeT|

of a component gas which is present in a mixture of gases is the pressure that would be
exerted by that component gas if it alone were present in the same volume and at the same
temperature as the mixture.

(a) arsggE/Vapour pressure (b) %ol gre/Total pressure
(c) 3fa ara/Partial pressure (dy " EE/Equilibrium pressure

——— Y 3 YR e T s St geit Rufaat 7 3meet §9 7 smarer wvar g sufAv ag ararga Ar
R B TROT F Heele & T 3era 8

A ——— may be defined as one which behaves ideally at all conditions and hence is incapable
of condensation to either a liquid or a solid phase

(a) 3megeT Fa/Perfect gas (b) =g dE/Equilibrium gas
(c) e d|/Saturated gas (d)  Im&E3swr d/Molar gas

STecst &l maa/Dalton’s law

(@ V=Vo+Vg+Vc+... (b) PV=nRT

(¢ PV=mRT (d) p=Py +Ppt Bt ...

ST TR STe 3Heh Qe & ST o ST § el 3TehT UIReT ¥ 2/eg ————— |

When partial pressure is equal to its equilibrium vapour pressure it is termed as

(1)  3ifaEecea a@/Super saturated vapour (b) e ard/Saturated vapour
(c) 3mgefarsw/ldeal vapour (dy  smarw/Equilibrium vapour
TorelT 3raTTr TRAOT 7 FaYetich 36 Tl Tesh AT &/ ————— T 91130

The boiling point of a non-homogeneous mixture must be ——— that of any one of its
components alone. ‘

(@) ¥ad¥/Independent of (b) . sev/Equal to

(¢) 3I=aay/Higher than _ (d)  fwrav/Lower than

fafarse war erRar @1 gfsie/Unit of specific heat capacity
(@ J/keg°C ®) Calmole/K  (¢) Jmole/°C @ Calg/K

e 31T B ST T BRI ———— & % ¥ iRt R s 1

The humidity of a gas is generally defined as

(a) T FFT 3 o gfe 3107 STer 7 HR/the weight of water per mole of moisture-free gas

(b)  TeT & IR T GfeY Jfeie AT el I 1 $1R/the weight of moisture-free gas per unit weight of water
(c) I T 3 & wia gfele 9K it 1 97R/the weight of water per unit weight of moisture-free gas
(d) 39dFT wivAll the above
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cy

38.

39.

40.

41.

42

suRafdd TYoRREd FaTe &1 Jeleil THIOT SaTdT § o U SR

Bernoulli’s equation for steady frictionless flow states that along a streamline,
(@) Ferers R R/Total pressure is constant

(b) e Fif3s et fEer §/Total mechanical energy is constant

(c) e My fR ¥/ Velocity head is constant

(d) 39deT 7 o s g None of the above

0.05 m = & veh @ 3 1.5 eleAT. 1 &gT = T YaTfee 31T & | U89 o STer &7 HieT 397 fopetelr 82

Water is flowing at 1.5 1it/s in a 0.05 m diameter tube. What is the average velocity of the water in
the pipe?

(@) 0.764m/s (b) 3.056 m/s () 764 ms (d) 3056 m/s

Teleh & o & 3refier 10 sssrier carw & v w01 A’ 0.9 fafRise a%ea 3R 10 poise F=TaT o et 2 GaAT STl
1 33 ot & wa sietarer 20 AsHie Hr B’ &1 R EEsT d9r——— g

A particle ‘A’ of diameter 10 microns settles in an oil of specific gravity 0.9 and viscosity 10 poise
under Stoke’s law. A particle ‘B’ with diameter 20 microns settling in the same oil will have a
settling velocity

(@) W faramee 39T % @aSame as that of A

(b) Ue T 39T U Tiemg/one fourth as that of A
() U fe-wmEs dershT ga-twice as that of A

(d) U -areA der e/ four times as that of A

LN

T e &R SaTE & fare Yesew ger ————— B

For an ideal fluid flow, the Reynolds number is

(@ 2100 (b) 100 ¢ 0 (d)  3aarInfinity
Ty 9¥e ——§1/Tooth paste is a

(a) f¥te wiffea/Bingham plastic (b) o CeRes/Pseudo plastic

(c) =geeirga@/Newtonian liquid (d) e ga/Dilatant liquid

FAL: Ry dur R 3aRe o area B=ar v aaf@er & @@y earg —— B

The equivalent diameter of an annulus of inner and outer radii Ry and Ry respectively is.
(@ 4R —R) ) +(Ro-Ry) © 2R—R) (&) (Ro+ Ry
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43.

44,

45.

46.

47.

3T SN & ToIC Iaila ared Haifes suel § foete
A globe valve is most suitable for applications in which

(a) & ar qoicar fage a1 fst qofear #9e 81 & forw atea 3@ @/The valve is required to be either fully
open or fully closed

(b)  waTe feeoT 3dfEd g/Flow control is required
(c) X # uRkfarea st enfie §/The fluid contains dispersed particles
(d) T R & yarg 3978 8/0One way flow is required

wﬁ#ﬁ@wq@\a AANHICT T IZUATSA H Uil & &I SASr T &) Afg R A s A fr @0 A &
(URT ETH Fa1g H FeaAan) o OIS 7 5ol Ya1ied 8la GH 37 Uigee] & e 1 g1 fewtar 1 uReveleT ey
A U tube manometer filled with mercury is connected between points in a pipeline. If the
manometer reading is 20 cm of mercury (difference in mercury column height). Calculate the
pressure difference between the points when water is flowing in the pipe.

9RT I Eeica/Density of mercury = 13600 kg/m’

STel T geica/Density of water = 1000 kg/m’
£ I 5T YR Tordr ST &ehar ¥/ g can be taken as 10 m/s*

(a) 27.2 KN/m? (b) 25.2 KN/m? ) 2 KN/m? (d  20.2 KN/m?

10 A3, 3z e sEHie) wew ¥ 3.14 x 107 m’/s 1 &t W e v far St 1 U89 e ) Ted vare
ﬂmﬁgvaragma;rmﬂﬁﬁm

Oil is pumped through a 10 cm ID pipe at the rate of 3.14 x 10° m’/s. The pipe is 50 m long.
Estimate the pressure drop assuming laminar flow.

ol T Teica/Density of oil =900 kg/m’
el T 71T/ Viscosity of oil = 1.2 Poise
(@ 307 N/m? 'Zb) 76800 N/m*>  ~(c) 3070 N/m? d) 7680 N/m?
U4l # Flet a9 gIaT & o TAAuHTT —————— AT 2
Cavitation in pumps occur when NPSH is
(@ <0
(b) =0

() 3=id/infinity
(d) vadvETT & @EfOT Ag/doesn’t related to NPSH

e §se A AT 1 atm AT @ o R ARaT § 3R 9 atm TN g 9 Gt & T Rt e &1 ddee
T febetar 82 :

A compressor sucks the gas at 1 atm gauge pressure and discharges the gas after compression at
9 atm gauge pressure. What is the compression ratio?

(@ 10 o 9 (c) 5 (d 4.5
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48.

49.

50.

51.

52,

T el 3 AT STaTel 9T I 3i1dH 397 9 gar & o1
Terminal velocity of a particle settling in a fluid happens when

(a) v e = 3cCAIgHdl §o — HHYUT aeF
Gravity force =  buoyancy force — drag force
(b)  3ccalrashar &l = ecadd
Buoyancy force =  gravity force
(c) Ieca =l = IcCoTgehdl aof + TR gl
Gravity force = buoyancy force + drag force
(d) TRaTA =  GFHNUTad
Gravity force = drag force
B Tl e otel & Ifed e FlamoT T = K (%)n:ﬁr ATE 3ATEROT ga& ‘1’ &l AT ———— 81

n
The value of flow behaviour index ‘n’ in Power law equation, T =k (%) , for Pseudoplastic
fluid is

(@ n=1 () n<l (c) n>1 (d n=0

g 1S9 FAT [gfRaraet &1 39T a9 fear Sirar g sie

Double pipe heat exchangers are used when,

(a) TBIR ga yalled U aird ¢/Corrosive liquids are passed

(b)  Fel FwATROT T 4 ¢/Overall heat transfer coefficient is low
(c)  3nfEra Feaiawor efF s §/Heat transfer area required is low

(d)  <Fm g yaried Rt €/ Viscous liquids are passed

T TTeReT & R 3 e & AN, Y BHATd Heg ¥ 3RUR A7 YaTg 1 &3 3 Hig i dTaaTe Gaorel &
i)

As per Fourier’s law of heat conduction, rate of heat flow across an isothermal surface is
the temperature gradient at the surface

(@) s=/Equal to

(b) & 3megaTias/Directly proportional to

(c) wfaaiar: mgrmﬁa#/lnverseliz proportional to

(d) 'ﬂ?—fﬁ EII?—Taiaﬂ?rl__,tlTﬁFa'w'fProportional to the fourth power of

o GG ePIoT T e 16\3 em” 1 3w aRerd ———— %1
Area of an equilateral triangle is 163 cm”. Its perimeter is
(@ 16 ¥#r/cm (b) 32 ¥3r/cm € 24¥#Ar/cm @ 4V3¥sfrem
10 1368



93.

54.

88,

586.

87.

58.

BT TFHTeRY 7 ‘T’ Ueg ————— HI AT FAT B

In heat exchangers, the term approach refers to :

(a) ecararvEfficiency

(b) 3reaeer/Economy _

(c) EFIUTHI ATEY ATYAT fHedr/Logarithmic mean temperature difference
(d)  3fcrey fog amee ffwar/ Terminal point temperature difference

T FITRAT T 39T ———— & foiw fhar srar g 1/Steam traps are used to

(a) wuer I fAFTe/Remove the condensate (b) 1T & =@/ Vent the steam

(c) eI T se/Regulate pressure (d) =7 T rsigi/None of these
Rl 3raRelt g it sraeiyehar q2r Rrafdar & Jrerhd ———— 81

Sum of the absorptivity and reflectivity of an opaque body is :

(a 0.5 (b) 1 .
() 0 (d)y == A U ot a1/ None of these
e FATAOT I g THT & WY Tgelall § df 34— Fgd o

If the rate of heat transfer varies with time, it is called :

(@) Hagew FsAEer/Convective heat transfer

(b) TR 3/@EyT area/Steady state conduction

(c) TR sraeem are=/Unsteady state conduction
(d) =99 U s AE/None of these

TR Qrer a2 Aot oAt RAfeFas 7 35 Y faeaR & SRT giatare sfaeai & fawaor ————— gere it U
[ERIEIGI

Deformation of tubes due to thermal expansion in a shell and tube heat exchanger is prevented by
providing :

(a) 3fER MFloating head (b) =g 9 fartoyMultiple pass construction

(c) wif¥eu/Baffles ‘_ (d)  ufaerryarg/Counter current flow

T 9g 31T IO 2T fohay Y1 AT RO TaATal 3 Sl 5 o FIAIeIoT 3 fore i <y 3738t 7 T@rar?

Which type of feeding in a multiple effect evaporator does not require pumps to transfer liquid
between the effects?

(@) srweRorForward feed (b)  wrgweRor/Backward feed
(c) AT wrorMixed feed (dy  FAT gsRorParallel feed
11 1368



58.

60.

61.

62.

63.

64.

T SR F7 A 9ie, 2 ol 9ig T2 11 ¥ I €1 T aihe a1 U Al 3ie [Bee Sl GHTEET Shdelt §2

In a bag there are 7 red balls, 2 blue balls and 11 white balls. What is the probability of getting
either a white or blue ball?

(@ 1/10 (o) 11/20 (c) 13/20 (dy 9/20

FEBIT-STeoT T fords aarell & o Uas oot 3 o et Scwroie erferd R a1g & ———— ¢l

Stefan Boltzmann law states that total emissive power of a black body is ——————— the absolute
temperature

(a) wfded: sreaTfas/Inversely proportional to

(b)  ¥er smequrfas/Directly proportional to

() @& reuice/Proportional to the square of

(d) TG urd & 3eaifae/Proportional to the fourth power of

T 3eaTfsa & g4 & Fasiich Ie=Ids Hl THonT ————— Bl ¢ |

Boiling point elevation of liquid in an evaporator results in :

(a) e g evaIncreased capacity

(b) =erg oS erAarReduced capacity

(c) wgdr g rd-caaedr/Increased economy

(d)  &THT a7 3rf-cgaTT H F1S yRaad #e/No change in capacity or economy

eicd T ARISE ST & T[UTeTthel T AT ATerha & e & 3fe]dTe sl —————— e ¢ |

The ratio of thermal conductivity to the product of density & specific heat is known as:

(a) wisel @&ar/Prandthnumber (b)  =g¥ec wearNusselt number

(c) FsHieRvT N/ Heat transfer coefficient  (d) oAt faaroreieranr/Thermal diffusivity

T I ST et 1 3T ———— & fav fFar s g
Multi pass heat exchangers are used

(@) & uerE =g=aA %=1/ To minimize pressure drop

(b) FsATARUT X ger=/To increase the heat transfer rate

(c) 3 wiavast oo a<e/To facilitate easy fabrication
(d) a1 ¥ U ey sEi/None of thése

FEHRT TRl HT Ffeie ———— &1
Unit of thermal conductivity is :
(a) Cal/cm.sec.degC (b)  Cal/em®. sec. deg C
() Cal/lem.sec’. deg C (d)  Cal/gm.sec.deg C
12 1368



65.

66.

67.

68.

9.

Z0.

za v 7 s9aria BT s ——— FEa ¥

In liquid extractor, the treated mixture is called

(@) fae@Solute (b)  Wae/Raffinate
() ager/Diluent (dy  fss¥/Extract

e § i verf & afeil = Peras & fav Tefafa 7 & - g e e i smarg?

Which of the following devicei s used for leaching of minerals from finely divided materials?

(@) F:waer chPercolation tank (b)  Treex gw/Filter press

(c) u=IEH/Pachucatank (d)  sR@Efe@Ra/Dorr classifier

) 12 xdx ———F|

ff xdx is

(@ 2/3 : (b O (¢) 1 (dy 372
Teh 316 Tole ST 9f T aF ¢ STe

Anideal plate is defined as the one where,

(@) aTS YU FAaTar YR £ Slz=idTell €RT & AT AT H §

The vapour entering stre am is in equilibrium with the liquid leaving stream
(b) aTST JUTET T FIATA TRC AT H §

The vapour and liquid entering streams are in equilibrium
(c) daT™Y BISATCH LIRT g Y Saiarell URT & G G 7 §

The vapour leaving stream is in equilibrium with the liquid entering stream
(d)  aTsT R g ST qRI T # )

The vapour and liquid leaving streams are in equilibrium

HTHE AT H —————— & e oeF I §

In distillation operation, q factor is zero for

(@) Fraeaga/Cold liquid (b)  @qed ga/Saturated liquid

(c) et A yeRvTSaturated vapor feed (d)  31fr de arsa wsRor/Super heated vapor feed

PETaf@a A Sle-ar Tt orrae FeRerare &7 3emEor §?

Which of the following is an example of maximum boiling azeotrope:
(@) vAaETa-STer/Ethanol —water

(b) @SR 31Fal-std/Hydrochloric acid - water

() @ sTeaEewRE-YEe/Catbon disulfide-acetone

(d) 3adwa @Al of the above
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Tk

72

73.

74.

75.

76.

U AT G AT &1 3797 0.5 B| Fel e TR O =721 & 3727 7 IRt Hifav|
Moisture content on dry basis is 0.5. Calculate moisture content on wet basis.

(@ 3.0 by 0.75 (c) 0.33 (dy 1

Tl e, foret 3raRadf ex 3rafRy gared g1 & 3R ardh ex e urer gl &, & sl & sfer sl ———
e B

Moisture content of a material at which the constant rate period ends and the falling rate period
starts is called

(@) uReg =+ #13=/Bound moisture content

(b) 3maRag 7#T &1 377/ Unbound moisture content

(c)  #F =7t &1 3ie/Free moisture content

(d)  @ifae «1&T &1 3721/Critical moisture content

T -1t TRAOT T 3T ———— & T gear ¢
Dew point of a gas-water mixture decreases with,

(@) ¥edge/Increasing pressure

(b) wedgE/Decreasing pressure

(c) a¢arge/May increase or decrease

(d) & & W HI5 IRadsT @iei/No change with pressure

Teh efieTefel ey &7 eldeleT Jeid ————— { ST SIT HebelT 31

The cooling effect in a cooling tower can be increased by,

(a) agHsH g1e gg/Increasing the barometric pressure

(b)  waRT AT TG S AT sgie/Increasing the humidity of entering air

(c) eI Helg o ST arg 1 391 sgl=/Increasing the air velocity over the wet surface
(d) 3wdFaasvAll of'the above

log10 = x,log2 =y,Fﬂ'log5 —_ %‘I

log10 = x,log2 = y, Then log5 is
@ x-—y (b) f; ©  xy d x+y

Th 3T JaTelel H Ha s H folehrel I/ g
In a distillation operation, the heat removed in a condenser

(a) TREETE T 3 giviarer IRad & 3rfaa g
Remains unaffected with change in reflux ratio
(b)  URTATE HTUIT H glAaTel SoTd o |1 TGl &
Increase with increase in reflux ratio
(c) UHETE IHeIUTCT | gieiaTel J¢Td & | Heal &
Decrease with increase in reflux ratio
(d) TREETE JFegare  agiey & Ay yoT-Fa = 7 3riferd av geary
And the heat required in re-boiler decrease with increase in reflux ratio
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77. 8 G ————— & 3T

78.

9,

80.

Lewis number is the ratio of

(@) T faaRoneiierar aur geaAm fawoniiear
Thermal diffusivity to mass diffusivity

(b)  gegATE fawrvreiterar aar gaeT fgaoreierar
Mass diffusivity to momentum diffusivity

() a9 fawvoniierar aur s fFavoreierar
Momentum diffusivity to thermal diffusivity

(d) @& faaRoTeiierar @ geuae faavonhear

Momentum diffusivity to mass diffusivity

dierdtst forsande & e mafafea & slmar adr o

Which of the following is true for a Bollman extractor?

(a) fde I3 femmersT 3TtoT #/s a static bed leaching equipment

(b)  3r9ehdr fsedes §/ls a centrifugal extractor

(C) TEURT T WIdHURT It fosent shg T &1 39T &hvar &/Uses both co current and counter current

extraction steps

(d) e ey forsewy &t 392 et §1/Use only counter current extraction

4= 3),3:(;‘ ““4),,43:(3 2). x & y T B $7

1 2 -2 10
What is the value of x & y?
@ 3,1 (b) -3,1 (e 31 d -3,

T @ 7 et F 400 fRA. A gl a7 F §1 A A uge F 4 6 & fw 55 R/ B iy F el BT Far
a1 A IR A h gl anfgw 2

Ram needs to cover a distance of 400 km in 7 hours. If he drives his car with a speed of 55 km/hr
for the first 4 hours, what should be his speed later?

(@) 45 A aekm/hr (b) 60 .+t /Aerkm/hr

() 55 fwar/merkm/hr (d) 50 f&.#rAerkm/hr
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